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M0
M B
9)[:

CH9l: QMBS ASIEA (et9: @2
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Onges: d=sNFH 29 3,400
OLdEs & HEMNH 7,200
03 A2 Z Hl 2,100 4,600 A 2,500
Onges: =L 29 2,100
301 et a s 4,500 0 4,500
09 &AL HI B A S 4,500 0 4,500
O04ase d=siat 29 4,500
Hd 2o 4 2,711,310 2,685,813 25,497
= 143,190
J| 2,055,200
< 512,920
ObYEY #x ¥ WK N 550,237 520,282 29,955
J| 448,834
= 101,403
301 LBt A 15,840 15,840 0
J| 7,920
< 7,920
09 A HIE &S 15,840 15,840 0
O ZH2AAE SML U 15,840
J| 7,920
< 7,920
308 X EHSOIA 510,397 454,567 55,830
Jl| 424,914
= 85,483
01 HIXNHHNBNEES 510,397 454,567 55,830
ONE=gIdaik EsAd 29 338,557
J| 278,811
< 59,746
ONEZY Hioi X A XA 26,000
J| 26,000
OZHANHAEFHAE At 25,565
J| 21,053
< 4,512
OJME=ZE Lol A Xzs= 72,857
J| 60,000
< 12,857
ON&E =Y Haik 2=t 29,143
J| 24,000
= 5,143
ONEEY Hoil kXt M=l 18,275
J| 15,050
= 3,225
403 Ut SHHS =0l & 24,000 49,875 AN 25,875
J| 16,000
< 8,000




R E

B EOIO‘ZA'_\E‘_OVS, H=ES FE= IS
Sl oy Aol BT (B9 ®R)
x 5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 24,000 49,875 A 25,875
OJNEZ =LA BESAE JIs22 24,000
J| 16,000
< 8,000
JIIEEY - 429 Ilolsl=s & MELEXAY 101,992 94,444 7,548
J| 83,993
< 17,999
308 XXIEHH SOl A 101,992 94,444 7,548
J| 83,993
< 17,999
01 AXHHILEES 101,992 94,444 7,548
OXMNE=EE Dol A nEXE 58,812
J| 48,433
S 10,379
O&= Dtk n3Xz 43,180
J| 35,560
< 7,620
= &R & Ooi Xk X2 1,729,754 1,690, 191 39,563
J| 1,441,623
< 288,131
308 XXM SO A 1,702,754 1,686,441 16,313
J| 1,423,623
< 279,131
01 AXHHISEES 1,702,754 1,686,441 16,313
Osg &dga 24 85,791
J| 57,194
< 28,597
O&=8 dEa 29 236,182
J| 157,455
< 78,727
OJE=Eg dEga 29 161,325
J| 107,550
< 53,775
O&=Z4 INlohA ESAE 29 276,920
J| 231,030
= 45,890
Od=Z" Ikt Xzz= 45,657
J| 37,600
< 8,057
O4dZ Oioik 22 - 28yl X 97,776
J| 80,521
< 17,255
O4d=Z" Ikt =K 2,183
J| 2,183
OdidtetlldE 29 265,370
J| 218,540
< 46,830




2N

M3 2Ol UL 014, BEE E= JiE
crel: old Aol EX (el @)
SAH-EB .S (3H) - NBAY - ofl &k o San HDE2

Oodlibtetl|ots sy 29 531,550
J| 531,550

403 XX S M S K201 A 27,000 3,750 23,250
Dl 18,000
& 9,000

01 AIXISHM A28 X 27,000 3,750 23,250
OdZHNMHANESAIE JIsE2D 4,500
Dl 3,000
= 1,500
OdlbtetIIdH Jised 22,500
Dl 15,000
& 7,500

HootsEAY HdoANE 40,000 40,000 0
= 40,000

308 AXISHAMSOIHA 40,000 40,000 0
= 40,000

01 HXHHBIMNEXS 40,000 40,000 0
OXMOtsSEAE HoHAUWNS 40,000
= 40,000

Zapgdns XNEXI|2 249 42,000 45,000 A 3,000
= 28,000
o= 14,000

308 XX SHHSOIA 42,000 45,000 A 3,000
= 28,000
o= 14,000

01 AIXHHBAEXZ 42,000 45,000 A 3,000
OZgygduns NEXSJN2H2H 42,000
= 28,000
== 14,000

OlsS - 4 OAE XYY (2E) 7,240 7,200 40
= 3,620
= 3,620

201 et A | 7,240 7,200 40
= 3,620
= 3,620

01 At 22l bl 7,240 7,200 40
O0ls - H4dotd XNgdad 7,240
= 3,620
o= 3,620

OlS - A XYY (XH) 39,820 43,200 A 3,380
= 39,820

308 X SHAMSOIA 39,820 43,200 A 3,380
= 39,820

01 IXHHIMNEXS 39,820 43,200 A 3,380
O0ts - (dotd XgGHH2dg 39,820




R E

M BO| U= M, B=g == JIIE
el 0lg Aol BX CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
| = 39,520
Ots M XE M X 20,787 23,411 A2,624
= 15,990
< 4,797
308 AHXIEHHSOIA 20,787 23,411 A2,624
= 15,990
< 4,797
01 AXSGHBLEES 20,787 23,411 N2,624
Oots ¢t XE M= X& 20,787
= 15,990
< 4,797
NGt T2 IH2A 23,640 23,640 0
= 15,760
< 7,880
308 XXM SO0 A 23,640 23,640 0
= 15,760
< 7,880
01 IXNSHHBNEES 23,640 23,640 0
OXNgGetdE2 )2 A 23,640
= 15,760
< 7,880
SHNDHK 4L 2 109,125 102,900 6,225
| 72,750
< 36,375
308 XX EHHSOIA 109,125 102,900 6,225
| 72,750
< 36,375
01 HXNHHBHELS 109,125 102,900 6,225
O&DOHOHIIGH At &g 293 109,125
| 72,750
< 36,375
SOHOHTIH R PEX S A 9,715 9,715 0
J| 8,000
S 1,715
308 XX EHSOIA 9,715 9,715 0
J| 8,000
< 1,715
01 HIXNHHBMNEES 9,715 9,715 0
OSOHOHIIGHAH RE=XIJ ALY 9,715
J| 8,000
= 1,715
HEE" HeEgns 4,000 4,000 0
201 et 4,000 4,000 0
01 At 221l 4,000 4,000 0




2N
X ZH -
L= B

el

[ )
B0l A= 014, B=S T OIS
oy e B

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O3&XT Hd3 5 H0H0H, &= DI =Z2 Y

i 4,000
HE=Ey dEas 29 18,000 6,000 12,000
308 A EHHSOIA 18,000 6,000 12,000
01 HXNHHBHELS 18,000 6,000 12,000

oxg=y dgEgar 29 18,000
&= Toll Xt Atell2tel X3 9,000 9,000 0
307 glz2tol & 9,000 9,000 0
11T M SXASEX 9,000 9,000 0

O& = LA Atedl2el XI& 9,000
HEZAIoHA LAESA X 6,000 6,000 0
308 XXIEHHSOIA 6,000 6,000 0
01 AXHHBISEES 6,000 6,000 0

O&=ZHIHA HAESsA XA 6,000
A XIRAMN 3,076,136 3,086,605 A 10,469

= 1,839,064

J| 60,000

< 1,177,072
29 SS(MHE)HLEMILH 22 1,466,298 1,498,482 A32,184

= 892,449

< 573,849
307 21201 A 1,466,298 1,498,482 A 32,184

= 892,449

< 573,849
11T ASI S XAEE = 1,466,298 1,498,482 N 32,184

OB=0EMEUBIIME (MEE) 29 310,464

= 155,232

=) 165,232

OMEZOHLAER 381,000

= 304,800

< 76,200

OO0t HSXF MHIA WS 548,688

= 274,344

< 274,344

OFGXT AtZ=2tel X3 A 122,346

= 61,173

< 61,173

OXgussd 90,000

= 90,000

OxoxMe=2 & SHHEY S 2534 13,800

= 6,900

< 6,900
HEMZLOIIEH =29 921,615 955,240 A 33,625

= 921,615




LR Lk

M BO| U= M, B=g == JIIE
Sl Ol OIE TR (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
308 AXISHXMSO0IH 921,615 955,240 N 33,625
= 921,615
01 HXHNBMNEXTZ 921,615 955,240 N 33,625
OMLHASIE 247,200
= 247,200
OOt HNEXNE MHIA HB 250,488
= 250,488
OFLX AtZ=2tel XA 57,627
= 57,627
OXgn=s=d 360,000
= 360,000
OFoxe= & SHE S gs&bl 6,300
= 6,300
O HE HIOHEHIE K 32,500 32,500 0
= 25,000
== 7,500
308 AXISHAMSOIH 32,500 32,500 0
= 25,000
== 7,500
01 HXHHNBIMNEXS 32,500 32,500 0
ORI HLME XIS 32,500
=2 25,000
& 7,500
2E0IQUR XALR2 FHee) 66,000 63,600 2,400
Dl 60,000
o= 6,000
307 212+0| & 30,000 30,000 0
Jl 24,000
& 6,000
11 A SEXNAEE X 30,000 30,000 0
OZE02HA Qe (2E) 30,000
Dl 24,000
== 6,000
308 AXISHXMSOoIH 36,000 33,600 2,400
Dl 36,000
01 XHHNBMNEXTZ 36,000 33,600 2,400
OZE0I2H e (AIZ) 36,000
J| 36,000
HEWAISHAINLHE X (XA) 227,397 227,397 0
307 QI2t01 ™ 227,397 227,397 0]
11 A SAAEE X 227,397 227,397 0
OFFHHAHENLHEH 29 207,397
odzgotataol 249 20,000
SE0YHEH 29 172,326 155,386 16,940




2N

X ZH
S =

el

CESESE
D BOl A= oK,
0 & 01 = X} &l T} 2

02

=
=

o
I
rr
AS|
i

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
308 XHXIEHSO|A 172,326 155,386 16,940
01 AIXSHMENMNEX= 172,326 155,386 16,940
O=E=04HE M st 172,326
AL FSEANIFUERAITE L3 40,000 40,000 0
307 2izto| A 40,000 40,000 0]
11T AISIEXAIEEX 40,000 40,000 0
OZ9HHEALXNE WER 8435 40,000
HAEFSXSEEH XA 100,000 114,000 A 14,000
308 AMXISHMSOIA 100,000 114,000 A 14,000
01 X HHIMNEEXTZ 100,000 114,000 A 14,000
OWEFNLANIAE XS 79,000
ONYAEE NYDS = 21,000
S=8 FUOH F2UH XNJAL 50,000 0 50,000
307 giztol A 50,000 0 50,000
1A S X AIE E X 50,000 0 50,000
Os HEWY SIYLH XNIANH 50,000
ALINE =S 11,755,928 12,387,554 A631,626
= 3,903, 140
J| 5,804,007
o=} 2,048,781
ALINERNSHEH 2 481,355 381,911 99,444
J| 370,273
=} 111,082
308 ANXISHHMSOIA 481,355 381,911 99,444
J| 370,273
= 111,082
01 AXHHIMNEXS 481,355 381,911 99,444
OAHLINERNIHLHEH 29 285,689
J| 219,761
&< 65,928
OAHLINE - U2 IINEXNHEH S AMHIA 195,666
J| 150,512
L3 45,154
2SS K0LIsE At 94,800 63,200 31,600
J| 84,000
= 10,800
308 XHXIGHH S0l & 94,800 63,200 31,600
J| 84,000
& 10,800
01 AIKSHHENEXZ 94,800 63,200 31,600
O2s=20lUsH MY 94,800
J| 84,000




SN LM
M B0l Y= 4, =S = OIE
Sl AYINFEY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 10,800
2o ¢ HAG L AHALIE X4 17,000 30,000 A 13,000
307 2Iz2t0| & 17,000 30,000 A 13,000
02 DIZFEAAIRE 2 X 7,000 15,000 A 8,000
OJIE&3 s 2 &0 XA 7,000
11T A EXAIEEX 10,000 15,000 A5,000
OFR9 Y SHAIXA 10,000
SHER2IIE HEHY=H & K& 3,150,000 3,407,400 A 257,400
J| 2,800,000
o= 350,000
308 MXIESHMSOA 3,150,000 3,407,400 A 257,400
J| 2,800,000
= 350,000
01 AIXSHMEMNEX= 3,150,000 3,407,400 A 257,400
QeI ANEHLY=H € K& 3,150,000
J| 2,800,000
& 350,000
SIERIIE SXAIE XN& AFY 50,850 84,285 N 33,435
J| 45,100
& 5,750
308 XX G SOl A 50,850 44,850 6,000
J| 45,100
& 5,750
01 AIXSHHEMNEX= 50,850 44,850 6,000
OstER2IIE SXAE AKX ALY - X2 4| X
&2 17,250
J| 11,500
& 5,750
Oblgste’ =HAHA 33,600
J| 33,600
StE2IIE X & 456,715 517,719 A61,004
308 XHXIGHH SO0l & 456,715 515,719 A 59,004
01 HXHHIMNEXS 456,715 515,719 AB9,004
OstE2IIE eyl X & 235,080
OstER2IIE NssM I n=sdl N 199,469
OstE2IE EXAE 29 (01 ) 20,666
ORNHESAAE EAX HEAEEZ(0/) 1,500
olols28 XI& 3,971,443 4,062,255 N 90,812
= 3,519,000
= 452 443
307 2iz2to| & 88,760 88,760 0
= 62,132
= 26,628




SN LM
M B0l Y= 4, =S = OIE
ool AYNFEY EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 88,760 88,760 0
OOt0ISSAMY Z9HEII2 2 88,760
2 62,132
< 26,628
308 XX EHH SOl A 3,882,683 3,973,495 A 90,812
=2 3,456,868
< 425,815
01 AXHHILEES 3,882,683 3,973,495 290,812
OO0t0ISSNE ALY 3,882,683
= 3,456,868
< 425,815
sdz2dst NE AY 225,000 269,250 A44,250
= 150,000
< 75,000
308 At EHHSOIA 225,000 269,250 A 44,250
= 150,000
< 75,000
01 HIXNHHNBMNEELES 225,000 269,250 A 44,250
OF e - A=K 225,000
= 150,000
< 75,000
dad R2 X& 99,375 108,602 N9,227
J| 80,000
< 19,375
308 XXM SO0l A 99,375 108,602 N9,227
J| 80,000
< 19,375
01 IXNHHMBNEES 99,375 108,602 A9,227
OFaxgseE2 Ig XN& 61,875
J| 55,000
< 6,875
OAZE DIER - 2EXNXNRI2 2SXNA 37,500
J| 25,000
< 12,500
alele =X X2 18,000 20,000 A 2,000
307 glz2tol & 18,000 20,000 A 2,000
TEE RS 18,000 20,000 ~2,000
O0lele etstn 29 XA 18,000
Ch2stEXJAEH 29 2,219,945 2,414,218 A 194,273
J| 1,850,634
< 369,311
308 XX SIS 0| & 2,219,945 2,414,218 ~194,273
J| 1,850,634
< 369,311
01 AXHHBILEES 2,219,945 2,414,218 A 194,273




SN LM
M B0l Y= 4, =S = OIE
Sl AUNHRY (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OU=2aINEXNHHH 2L (XNSHEH) 943,003
| 725,387
< 217,616
OURSAINEXNAHEH Y (MEA) 1,059,826
| 939,086
< 120,740
Ost=0lus 2 XA 210,096
| 186,161
< 23,935
OUZINEFNIHEH AN HRHME 7,020
Ch2s0ts o0 € Ws K& 547,921 610,666 A62,745
J| 470,841
< 77,080
308 XXl EHH SOl A 547,921 610,666 A62,745
J| 470,841
< 77,080
01 AXSGHBLAELS 547,921 610,666 A62,745
OU=23ItE M YL 313,566
| 277,843
< 35,723
OZE0I2A S - HIAMHA 234,355
J| 192,998
< 41,357
Ct2shts X 38,120 34,200 3,920
201 Let24d] 16,600 15,200 1,400
01 At 2teltl 16,600 15,200 1,400
OUEatIE LA &2t 16,600
301 gEtE A= 1,120 0 1,120
09 HALAHI EA S 1,120 0 1,120
OUIsIE LA slo FAX AdE4
7,000& x20H «83| 1,120
307 glz2tol & 10,000 9,000 1,000
11T ALS S RAEE = 10,000 9,000 1,000
OUIeIIEXH 2AHI2 &S A= 10,000
308 XXIEtH S0l A 10,400 10,000 400
01 IXNHHBANEES 10,400 10,000 400
OU=23ItE &its sHd X& 10,400
Zd0o ol XA 125,264 122,768 2,496
| 103,159
< 22,105
308 XtXIEHHSOIA 125,264 122,768 2,496
| 103,159
< 22,105
01 AXSHBLELS 125,264 122,768 2,496




2N
X ZH -
L= B

el

0x
04
):4:|
B

o4 2
B0 A= 04, =S F= NS
A2HE =4

SA - BB B () - MM - BES Ol &t o San HmEET

OZgMlol 004 ESAE 29 125,264
J| 103,159
< 22,105

Sgolg=a XA 26,000 26,000 0

307 21201 A 10,000 10,000 0

02 HAFAANFEX 10,000 10,000 0
O=sstolg=g gsasa N 10,000

308 XX EHH SOl A 16,000 16,000 0

01 HXNHHNBHELS 16,000 16,000 0
O=stolg=8 FEAXIAY 16,000

SE0IEF0 NYHSHEH 29 215,640 220,080 A4,440
= 215,640

307 glz2tol & 215,640 220,080 A4,440
= 215,640

02 LIt MAMHEE 215,640 220,080 N4,440
O=sstolg=0l NYNSHH 29 215,640
= 215,640

SE0IE=2UNE XNYE2s 29 18,500 15,000 3,500
= 18,500

201 L2l 4,000 3,000 1,000
= 4,000

01 At 22l 1,100 1,100 0
O& NGz &g 1,100
= 1,100

03 A2 Z Hl 2,900 1,900 1,000
O NLEols A2l 2,900
= 2,900

308 XXM SO A 14,500 12,000 2,500
= 14,500

01 IXNHHBNEES 14,500 12,000 2,500
OAZEoz BaEXL3 14,500
= 14,500

a2 11,593,611 8,029,261 3,564,350
= 583,300
Xl 4,838,000
J| 3,778,496
< 2,393,815

FAEHEEY 6,335,899 3,563,844 2,772,055
= 538,300
Xl 4,838,000
J| 215,120
< 744,479

FAE=IMUF 48,000 48,000 0




2N

M BAEAB Y
e HAEUAESEY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 48,000 48,000 0
11T AISIEXAIEEX 48,000 48,000 0
OFAYE ZME 48,000
ANEEAEHEWHARS 2 10,000 10,000 0
J| 5,000
& 5,000
307 giztol A 10,000 10,000 0
J| 5,000
& 5,000
11T A EXAIEEX 10,000 10,000 0
OANEFALAEHEFTOHRAFS 24 10,000
Jl 5,000
= 5,000
NEHAEEHRAXS 29 5,600 5,600 0
J| 5,600
308 XX SHHSOIH 5,600 5,600 0
J| 5,600
01 AIXSHMENMNEXZ 5,600 5,600 0
OXNgEHAEHEHARS 294 5,600
J| 5,600
HAUE & S0ls =AM 9,000 10,000 A 1,000
307 2Iz2tol & 9,000 10,000 A 1,000
11T AISIEXAIE EX 9,000 10,000 A 1,000
O¥A~49 5 stotgs =AH 9,000
=MOIgUHE HFA4E &I} 15,000 15,000 0
307 2izto| A 15,000 15,000 0
11T AISIEXAIEEX 15,000 15,000 0
O=Hotga HEAaE &It 15,000
HAECH >dE8s T2 )8 29 40,000 40,000 0
307 QI2t0| & 40,000 40,000 0
11T A EXAIEEX 40,000 40,000 0
OFAECH s T2 29 40,000
Y MAEZ=x NIz )3 & 50,000 40,000 10,000
= 25,000
= 25,000
307 212t0| & 50,000 40,000 10,000
= 25,000
o= 25,000
11 A EXAIEEX 50,000 40,000 10,000
Ol HAEZ=x ez ) & 50,000
= 25,000
= 25,000

w
|




LR Lk

M BAEAB Y
S 3AEANRY (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2

FAEZENER 85 & 612,000 600, 000 12,000
= 183,600
= 428,400

307 QI2t0| ™ 612,000 600,000 12,000
= 183,600
& 428,400

11T AISIEXAIEEX 612,000 600, 000 12,000
OSHECHAEZSHEN=ER 25 N 612,000
= 183,600
& 428,400

Hou 2E X 188,065 155,440 32,625
= 129,700
& 58,365

308 X SHAMSOIA 188,065 155,440 32,625
= 129,700
== 58,365

01 HXHHBIMNEXS 188,065 155,440 32,625
OFAE HEEOY 29X 138,040
= 95,200
= 42,840
OFA4E =0tel g1 50,025
= 34,500
& 15,525

HAELBEAY NS AF X (XH) 185,520 163,440 22,080
Dl 185,520

308 AXISHMSOIH 185,520 163,440 22,080
Dl 185,520

01 HXHHNBMNEXTZ 185,520 163,440 22,080
O&L2dEHAA RIS A K& 185,520
J| 185,520

HAE 2PITR0Y 29 U 2H5 A 4,000 16,650 A 12,650
Jl 4,000

308 XHXI EHX SO & 4,000 16,650 A12,650
Jl 4,000

01 AIXHMBANEXZ 4,000 16,650 AN 12,650
OFA~E =z )Y 29 9 243 XN 4,000
Dl 4,000

HAaGLEAE 2HE/AJAS 2E 15,000 15,000 0
Il 15,000

308 XX S M SO0l & 15,000 15,000 0
J| 15,000

01 AXHNBMNEXZ 15,000 15,000 0
OFAELHAANAE 2 HAJYS ¢ 15,000
Jl 15,000




2N
X ZH -
L= B

el

(==
Ao s
AEAERH

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
dAadsdus T2 285,714 285,714 0
= 200,000
< 85,714
307 gl2tol & 285,714 285,714 0
2 200,000
< 85,714
05 BIZHRI & 3 285,714 285,714 0
o324l gdus T2 285,714
= 200,000
< 85,714
EtAIE 2t H3AENR 8 AMYFA 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
11 AISI SAAISEE = 20,000 20,000 0
OBt Al - &2t AU WFESE MIFE 20,000
S3FLESEANE JISEZ 4,838,000 1,966,000 2,872,000
X 4,838,000
403 Mt S E X201 E 4,838,000 1,966,000 2,872,000
X 4,838,000
01 AXSHMA=2EER 4,838,000 1,966,000 2,872,000
OZB33adEHANE JIsEH 4,838,000
Xl 4,838,000
Ots&EAEEZE K& 10,000 10,000 0
307 21201 A 10,000 10,000 0
11 AMISIAIEE X 10,000 10,000 0
OOtsd¥A~EFEZYH R 10,000
HAEESHE 5,257,712 4,465,417 792,295
= 45,000
| 3,563,376
< 1,649,336
H23HEH 2SXA(HE) 454,964 301,800 153, 164
| 137,482
< 317,482
307 glz2tol & 274,964 301,800 N 26,836
| 137,482
S 137,482
05 RIZHRI & 3 137,482 150,900 A 13,418
Oo0lsd 8=2stdH 2FXA 137,482
J| 68,741
< 68,741
1A S XA E X 137,482 150,900 213,418
Od=2stdH 2I A& 137,482
| 68,741
< 68,741




FAMN HHdE M2
R R PN
Chel: EAEBsSHEE (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
401 Al& Bl & 28I 180,000 0 180,000
01 A& HI 180,000 0 180,000
OFAELISHEH(DEE) MEg2 &X 150,000
OHEALAULESEEH EH & A4ELR 30,000
dus st 24 15,000 0 15,000
307 21201 A 15,000 0 15,000
1A S XA E X 15,000 0 15,000
Odu=s ANesIt 24 15,000
H23HE 2SI XA () 68,742 75,450 26,708
| 68,742
308 XXM S0 A 68,742 75,450 26,708
| 68,742
01 AXSGHBLAEES 68,742 75,450 N6,708
Od=3dH 2 XA 68,742
| 68,742
AU RHSZZAY NLEs 29 8,000 8,000 0
= 4,000
< 4,000
307 2I2t0l A 8,000 8,000 0
= 4,000
< 4,000
11 AISI S XA E X 8,000 8,000 0
OFadRoiatdZAe ANGE2As 2L X 8,000
= 4,000
< 4,000
FLERHSZIZANEG B2o™ XA 26,000 26,000 0
= 26,000
307 21201 A 26,000 26,000 0
= 26,000
11 AMSISTAIEE X 26,000 26,000 0
OHELAERMNSIZAHE d220a XA 26,000
= 26,000
ARSI ZAE 29 22,500 22,500 0
= 15,000
< 7,500
308 XXM S0 A 22,500 22,500 0
= 15,000
< 7,500
01 AXNSHHBLEES 22,500 22,500 0
OFAERNSIZAE 24 22,500
= 15,000
< 7,500
HAE dH 22 (HE) 145,972 107,962 38,010




2N
X ZH -
L= B

el

GRSES

a Z

A

()

My o oA
HL 1@ 2
jor 0w iy

i o

B4

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t

Jl 72,986
= 72,986

307 glz2tol & 145,972 107,962 38,010
J| 72,986
= 72,986

11T M SXASEEX 145,972 107,962 38,010
OFadaH 2SN (HE) 145,972
J| 72,986
< 72,986

Hiad dH 2GXJ(XNH) 557,767 429,640 128,127
J| 429,052
< 128,715

308 XtXIEHH SOl A 557,767 429,640 128,127
J| 429,052
< 128,715

01 AXNHHBANEES 557,767 429,640 128,127
OFadaEH 2 XA (XE) 557,767
J| 429,052
< 128,715

Hiod SENAMARS(HY) 373,900 418,500 A 44,600
J| 186,950
< 186,950

307 gl2tol & 373,900 418,500 A 44,600
J| 186,950
< 186,950

11T M SXAISE EX 373,900 418,500 A 44,600
OFALHUESEXNANA 25 373,900
J| 186,950
< 186,950

HAE SENIMARAS (M) 526,020 513,000 13,020
J| 526,020

308 XXM SOl A 526,020 513,000 13,020
J| 526,020

01 IXNHHBNEES 526,020 513,000 13,020
OHLAEUSESHXNEANA 25 526,020
J| 526,020

FLAEHAERHEAY 435,000 423,000 12,000

307 21201 A 435,000 423,000 12,000

11T MISRAISEEX 435,000 423,000 12,000
OFAGLEXEAY 435,000

SHANEZZ N2 A (YY) 252,340 237,380 14,960
J| 126,170
< 126,170

307 gl2tol & 252,340 237,380 14,960




2N
X ZH -
L= B

el

GRSES

a Z

A

()

My o oA
HL 1@ 2
jor 0w iy

i o

B4

SA - BB B () - MM - BES Ol &t o San HmEET

Jl 126,170
= 126,170

11T M SXASEX 252,340 237,380 14,960
Osttht =2 29X A 252,340
J| 126,170
< 126,170

SHANEZZDYM2I XA (XH) 116,640 111,260 5,380
J| 116,640

308 XX EHHSOIA 116,640 111,260 5,380
J| 116,640

01 AXHHILEES 116,640 111,260 5,380
Os8x 228 21 116,640
J| 116,640

st gt HAE X2 (HY) 245,940 215,940 30,000
J| 172,158
< 73,782

307 gl2tol & 245,940 215,940 30,000
J| 172,158
< 73,782

11T M SRAISE EX 245,940 215,940 30,000
Osgtw & A4 XA 245,940
J| 172,158
< 73,782

78 NZSANME 2S(HY) 51,800 0 51,800
J| 51,800

307 gl2tol & 51,800 0 51,800
J| 51,800

11 ALS S XAEE = 51,800 0 51,800
ONM7e8WZESAAMNME 29 (2 E) 51,800
J| 51,800

st gt HAE X2 (X&) 676,200 562,800 113,400
J| 676,200

308 XHXI EHAI S0 & 676,200 562,800 113,400
J| 676,200

01 HXNHHNBNEES 676,200 562,800 113,400
Ostn & a4 X 676,200
J| 676,200

a4 gus 23X& 1,220,927 952,185 268,742
J| 939,176
< 281,751

308 XtXIEHH SOl A 1,220,927 952,185 268,742
J| 939,176
< 281,751

01 AXHHILEES 1,220,927 952,185 268,742




LR Lk
X ZEH: ™A
L= B

C)—A—L\j (=}
ol HAEESHE (el @2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFAUE gtts &1 1,220,927
J| 939,176
= 281,751
HAHSEIA AL (XE) 60,000 60,000 0
J| 60,000
308 XAHXIGH SO0l & 60,000 60,000 0
J| 60,000
01 HXHHIMNEXS 60,000 60,000 0
OFAEELEIA MY 60,000
J| 60,000
HHSAAY (L2 74,671 77,448 N2, TT7
Jl2 &l 74,671 77,448 N2, TT7
Jl2 &4l 74,671 77,448 N2, TT7
201 et Y| 20,401 21,288 N\ 887
01 AP 2t 2] d| 20,401 21,288 N\ 887
OJIE2x=2tl| 8,326
(OPI==1=a:] 12,075
202 04| 43,470 45,360 A 1,890
01 2Ll 43,470 45,360 A 1,890
o220 bl 43,470
203 €2 F=&d| 10,800 10,800 0
01 J| 2 2H A R2=XH| 6,600 6,600 0
O =2 6,600
04 EASHEIRFAH| 4,200 4,200 0
O A= 2Al 4,200




